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1) In which inscription are the names of ancient times like *Jabalipur’, “Shakmbhari’, ‘Srimal’ found?

1) Aamer inscription 2) Chirwe inscription

3y Bijoliyz iriscription 4) Sharigi rishi inscription
1) wvanfgy, seper), e SR SN W @ ge e Reem g R 0

1) 3 T 2) w7y fomrwre

3) fastifern e 4y = =y T
2) The relation of ‘Kotdigi’ civilization were with

1) Pre Haddapan Civilization 2) China Civilization

3) Egyptian Civilization 4) Sumeriyan Civilization

2) et qaar H g @Y 7

1) &9 O @ uw § 2) @ e &
3) T & v & 4) gARET @ T
3) Which are was not enclosed in the Chande] empire? |
1) Bundel Khand 2) Jaijak Bhukti
3) Mahoba 4) Bareli
3) wtw v H amar &9 qivfer 7 o ?
1) gEmwEve 2) SR
3w Con @l

4) In whose reign was the work Sawag-Padikaman Sutchanni (Shrawak prati karman sutra churni)
illustrated?

1) Mokal 2) Tej Singh
3) Kumbha 4) Jaidev Singh N _
4) grer-afemwor ge gt (s wtw g3 guff) g fred e % v R g ?
1) Hiwe | 2) s '
3) ¥ 4) sy fiE
5) From which site has the large idol of ‘Jakh Baba’ Found?
1) Noh 2) Mathura
3) Rangmahal 4} Nand
5) srEamEr # e gt w4 o g ? L
1) e : 2) WU
3) THER 4) 9rg
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6) In which Fort of Rajasthan were the cannons forge?

1) Jaigarh 2) Nahargarh

3) Lohagarh 4) Junagarh
0) 19 T BT FHEMT A & H g A o 7

1) 9197 2) SEE

3) WErg 4) e

7) ‘Aachintya Bhedabhedwad’ is associated with which sect?
2) Nimbark Sect

4) Laldasi Sect

1) Chaitanya Sect
3) Parnami Sect )
7) anfier GErdEae & ey fPu wmEm A ¥ 7
1) S R
3) UG H9EE
8) With which style of painting is ‘Nathu’, ‘Murad’, ‘Ramlal’, Aliraja associated with?
2) Kota Painting N
4) Bundi Painting :
8) g, WE, WAGH, SRR e & gy e Rm i A wr g v

1) BikanerPainting
3) Kishangarh Painting

1) dErR REdE 2) el e
3) foherrrg st 4) T RS
9) Which following code is does not match?
Writer - Books
1) Haribhadra Suri - Dhurta Khyan

2) Udhotan Sun
3) hneshwar Suri

- Kuwalayamala
- Madhawanal Kam Kandala

4) Padmanabh - Kanharde Prabandh
9) s we ghfm AE ¥ ?
. @[@?ﬁ ‘ y ECT]
1) ERwE ' Pl
2) TERF 9o - EEGREIGH
3y Rvar gl - WIS ST
4) ygEEy - HESe TGy
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10) The ‘Budhi Teej’ is celebrated in :-

1) Bhadra pad krishna tritiya 2) Shravan Shukla tritiva
3) Shravan krishna tritiya ‘ 4) Bhadra pad tritiva
10) qd) € Wl et & -
1) WIE9E g g 2) ST R A
3) ST PO AT 4) WIS YT A
11) Which following Code is does not match?
Writer - Books
1) Awanindra nath thakur - Bappaditya
2)- Dwijendralal rai - Bhism of Rajasthan
3} Jyotirindra Nath - Attack on chittor
4) Bankim chandra - Raj Singh
11) @ g gRe T8 ¥ 7
AGF - &
1) SR Y g - Bl
2) fosrs o T - TR w7 A
3) Sl Y - fereits W ammAw
4) Gl ﬂ'ﬁ_ - TSIE
12) The ‘Bindori’ Folk dance hélongs to which area? -
1) Kishangarh _ 2) Jaipur
3) Jodhpur |  4) Thalawar
12) ‘farly’ st w1 g Wi g R 7 |
1y Reeerrg 2) g
y w4 s
13) Who founded the Prajamandal in Dungarpur?
1) Gokul bhai bhatt 2y Jamana lal bajaj
3) Bhogilal Pandya 4y Sagarmal Gopa

13) SRy wormvew & e e & 7

1) igH 9 9 | 2) SR A
3y e g | 4) HFRHER T
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14) Who imposed the new cess called ‘Talwar-lag’ in Bijoliya?

1) Prathwi Singh 2) Kishan Singh
3) Kesari Singh 4y Swarup Singh
14) fasiiferen & aerar @ am & 98w e and 6 7
1) JeARiE 2) Fpem i
3) F8h s 4) =% s
15) What was Kosia?
1) Salt of Pachpadra ‘ ~ 2) A name of Revenue tax
3) A unit for measuring distance 4) A name of Ornament
15) “wiftpar = oy ?
1) TEUET & T9H 2) TEE FT B AW
3) T AW H TE 4) ST T A
i 16} Who inaugurated the formation of Eastern Rajasthan (25th march 1948)?
1) N.V. Gadgil | 2) Jawahar lal Nehru
3) Sardar Patel . 4) Shobharam Kumawat
16) wd worea (25 = 1948) @1 Igures feaw [ear ?
1) TAA. e 2) WAw W 86
3) WER 4) HRE HHES -
17) Who setup the ‘Mahila mandal’ (1935) in Udaipur?
1) Daya shankar kshotriya - 2) Ram Shankar gupta
‘ 3) Mahadevi Varma 4) Jai Shankar Agarwal
17) weaqe & ‘wigen woga’ (1935) &l @ fhad @t ?
t 1) ewgier s 2) THIHT T
3wl 4) TG U
18) Which is not a string instruments?
1) Jantar - 2) Bhapang
3) Dukaka 4) Nag Phani
18) ey o =gy a8 & 7
[y Si<ie . 2) W
3) g 4) AMEH
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9} In Rajasthan the teraple of ‘Mama-Bhanja’ is establish in :-

1) Banswara ' 2) Dungarpur
3) Jodhapur 4) Kota
19) Torur § ‘Ao @ AT R ¥ -
1) aEErET 2) ¥R
3) S 4) e
20) Prior to independence which weré the “Thikanas’ which had the status of non Salute State?
1) Lawa 2) Kushalgarh
3) Nimrana 4) All of above
20) sy % g i Gy @ fer dE 4 7 |
1) e | 2) BIT |
3) 4) SUGRT Qo

21) Identify the correct sequencing, in descending order of area, of the districts of Rajasthan -
4 1} Kota > Sirohi > Bharatpur > Banswara
2) Sirohi > Kota > Banswara > Bharatpur

3) Bharatpur > Sirohi > Banswara > Kota
4) Banswara > Bharatpur > Sirohi > Kota

21) f ¥ ol 5§ TR % R T W SRDEN qe -

1) @ier > R > wiagy > sigarst 2) Od > Fier > sfaaer > wayy
3) SAgy > i > sfeiet > e 4) aTEEIST > WAL > R > B
22) Odd out the pair not correctly matched - ' 1
Mountain Peak District _ : |
1) Bilali : Alwar | B
2) Babai : - Jaipur
3; Kumbhalgarh - Rajsamand
. 4} Bhojagarh - Sikar
22) sEve g @ gl -
M - b=
1) dremwi - A
2) A - ERLR
3) FHETE _ - TSHHE
4). e - diwt
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23) Physical division extending over the largest area in Rajasthan is -

1) Eastern Plain i 2) Marusthali
3) Aravalli 4) iHadauti Plateau
23) vy | waie e faem amn dfas w@e -
1) T A 2) wawEd
3) e 4) ®ERI 1R
24} Luni river water remains sweet up to which place from its origin and thereafter turns saline ?
1) Samdari 2) Balotra
3) Siwana 4) Sanchore
24)@%@%%%%%%%%%%@13@%@“@%% 7
1) wHEdl 2) aEET
3) faarn o 4) mER
25) Where from does the siver Chatnbal Originate 7
1) Nag Pahar - -2y Kumbhalgarh
3) Janapao Hills 4) AlwarHills

25) T T B A EE AT ?

1) AN Uels o 2) IR

3) wTaE wEf 4) SR eIl
26) What is the root cause of scant rain in Rajasthan?

1) Distance from sea

2) Extent of desert
3) Sparse forest cover
4) Typical orientation of Aravalli range

26) TeTam § ST gyl wl §E SN R R 7

1) 79F @ gl g 2) WEEH &l En

3) S AT 4) FUEA A0 & [ Ranmw
27y Alluvial soils are found mainly in which districts of Rajasthan 7

1) Kota, Baran, Jhalawar
2) Bharatpur, Sawai Madhpur, Dholpur
3) Bhilwara, Chittorgarh, Banswara

4) Sirohi, Udaipur, Rajsamand

27
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27) TRy ¥ Sie B g fee e | e w v

1) B, a0, A 2) WYY, WA AN, dg

3) g, fadieTg, Stwer 4) foridy, ey, TR
28} Which district in Rajasthan has the largest area under forests?

1) Karauli | 2) Baran

3) Chittorgarh 4y Udaipur
28) Ty ¥ oy o &1 Wit dw o % ot ¥ 7

1) whe - 2) awi

3) RrigTg | 4) TP

29) In production of Rape and Mustard leading districts of Rajasthan are (2009-10) -
1) Sawai Madhopur, Baran, Hanumangarh
2y Tonk, Kota, Jhunjhunu
3) Alwar, Bharatpur, Ganganagar
4y Jaipur, Dausa, Karauli

29)Tr§am¥ﬁ%wmﬁwwm%m0ﬁm§(zoe9-m)

1) IR AR, W, TG 2y oE, Fe, g
3) SR, WA, TNAR 4) T, G, B
30) Which one among the following livestock constitutes the largest number in Rajasthan (2012)7
Iy Cattle 2) Buffalo ' |
3} Sheep 4) Goat
30) o | Freifea uge § @ gan ot den e § (2012) 7
1) TrEs 2) 4
3) #g 4) T
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Sa)maﬁmﬁﬁfaﬁ%ﬁaﬁﬁAmﬁﬁmﬁwmﬁqwﬁq—
1) YO WA GFE - N 9P - J4RT §eE - $HiE S
2) T UT BER - SERE AR - M SR - e §
3) Tiel} AR - TOT NG APR - AR AR - $Er S
4) O YT GER - T AR - e 3N - SEw 9

34) How much percentage do Rajasthan contribute to the total surface water resources of India?

1)-1.70 2) 2.86
3) 1.i6 4) Lessthan 1
34)%%%wﬁmamﬁwwmn%sﬁm% ?
1 1.70 2) 2.86
3) 1.16 4y 19 FH
35) What is the key environmental crisis in western Rajsthan ?
1) Soil erosion 2) Water Scarcity
3) Desertification 4) Droughts and famines
35) afeenlt T § uE qEiEiy e g 7
1) 781 AW 2) S
3) HEHADHT 4) HE g FER
36) Which territory of Rajasthan is faced with acute ecological crisis due to illegal mining?
1) Southern Aravalli . 2) Hadauti -
3) Abu Block ~ 4) Northern Aravalli
36) T H BMAA LA A T B BRO TER WRRARE Hbe S @ T 7
1) el sroaed - 2)
3) g WU - 4) SO SER

37) Which one of the following road developmem prograrﬁihes is not covered under ‘Rajasthan Road
Vision-2025'?
1) Road construction in irrigated command areas

2) Roads connecting tourist and religious places
3) Roads constructed by World Bank and NABARD
4) Roads constructed by Border Security Organisation




JCT

31) Match - )
Sanctuary  Characteristics 1
A) Keoladev Ghana National Park 1) Snakes shelter-belt S 2)
B) Sariska 2} Drainage area of Mansi - Bakal rivers L)
C) Phulwari-Ki-Nal 3) Rhesus Macaque and Langur 4
D) Shergarh 4) Ramsar Wetland YT
Code - :
A B C D
4 3 1 2 :
2) 4 3 2 1 3
3y 3 4 2- 1
4 3 4 1 2
31) giferm AR - | 35)
HIER - TerdreraTd
A) ¥R g UM TAM - Iy =i & sror - el
B) it - 2) |l - arew HiRdl & YaiE & 15
C) BEA - & - A - 3) |9 &§87 U9 @R '
D) 2Tg - 4 THE A
T -
A B C D 3¢
1 4 3 1 2
2) 4 3 2 1
3) 3 4 2 A
4 3 4 1 2 | 3
32) Which district of Rajasthan possesses the largest irrigated crop land (2009-10)?
1) Alwar o 2) Ganganagar
3) Hanumangarth _ 4y Jaipur
32) worene % g B d ffue o w9898 st € (2009-10)7
1) oy : 2) THHTY
3) TS 4) WY
33) Identify the correct sequencing, in the river-flow direction, of the dams built on river Chambal-
1) Rana Pratap Sagar - Gandhi Sagar - Jawahar Sagar - Kota Barrage
2) Rana Pratap Sagar - Jawahar Sagar - Gandhi Sagar - Kota Barrage
3) Gandhi Sagar - Rana Pratap Sagar - Jawahar Sagar - Kota Barrage

4) Rana Pratap Sagar - Gandhi Sagar - Kota Barrage - Jawahar Sagar

19-@ 10
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37) Tred A% [AEM-2025 % A B A O 9w e @ s-ar ey whatm a8 8 2
1) fifge suve a=i § g2 R
2) wew o uifte Wwl &l g6 ¥ TS
3y fava &% g wad an R wes
4) G a3 g qusd g i ued

38) Through how many districts of Rajasthan will the Delhi-Mumbai Industrial corridor pass through?

1) 13 2) 14
3) 15 4) 16
38) Rwhaed deifs aer Towar & B R 8 & s gem ?
1) 13 - 2) 14
3) 15 4) 16
" 39} Mineral in production of which Rajasthan holds monopoly in the country -
1) Mica 2) Wollastonite
3) Manganese 4) Copper
39) witor Rrads A J Towa & 39§ Ui | ¥ -
1) 3g® : 2) AETEE
3) HerE | 4y e
40) Odd out thé pair not correctly matched -
Mineral Minining Area
.1) Silver - Rampura Augucha
2) Copper - Salumbar
3) Tungsten - Depgana
4) Gypsum - Kesardesar
40) T W w Sy -
& S <
1) @i - T S
2) dar - A
3) Eneed S
4) Foram -~ HEEH |
41) Which positioﬁof natural bed of stone relative to di-rection of pressure ensures maximum strength?
1) Perpendicular 2) Parallel
3). Oblique 4 \ 4} None of the above

19_‘. 12
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41) T 4 4 ey Rufy 7 92rR & Natural Bed 89 & 3iftmmay amed (Strength) Wiy 37 511 &@%dl & |
1) 39 & waad 2) a9 % HHMER (Parallel)
3) gaE % faeet (Oblique) , 4) o § B T
42) Which of the following steps in the manufacturing bricks is carried out in pug miif?
1) Digging . 2) Cleaning
3) Weathering 4) Tempering
42) fom # @ @ 91 & ¢ 99 999 pug mill § Ry wen ¥ 7
1) GErE (digging) " 2) @ (cleaning)
3) 9 (weathering) ©4) Y& B (tempering)

43) Moderately hydraulic lime is best suited for

1) Plaster work - 2} Whitewash work
3) Masonry mortar 4) None of the above.

43) S g W FEAEH A ... o HE@E?

) wEw EE 2) a5 B

3) R waw 4) wote § B 6

44) Which of the following grades of concrete is recommended by BIS for moderate exposure condition?
1) MIO 2) MI5
3) M20 | | 4) M25

44) Wﬁ%ﬁ?%ﬁﬁmm%mModew{eexpomm%WWWT&;% I
1) M10 2) M15
3) M20 ‘ 4) M25

45} Which of the following shapes of aggregate requires minimum water to achieve a desired wérkabiIity?
13 Cubical . 2) Rounded
3) Elongated 4) Square _

45) afewa Workability &g thic H 3ugim & fou fr1 foflaa & 2 e & wew ) o9 oMl & sterd
B 7
1) ergfE 2) i
3) @ 4y "R

46) Which of the following tests detects presence of uncombined lime in cement?
1) Fineness 2y Consistency
3) Initial setting time 4) Soundness
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46) f=iiftea # & FE dfg ¥ e F swge g & Aol g Twdn ¥ 7
1) Fineness 2)) Consistency

3) Initial setting time 4) Soundness

47) Which of the following range of Pigment Volume Concentration Number is recommended for paint
of exterior surfaces of a house?

1) 28-40 2) 40-50
- 3) 50-60 4) 60-70
47) o % @ 7aE W paint 37 Fr= § 4 Sl PVON Sj@en Sugw et ?
1) 28-40 2) 40-50
3) 50-60 | 4 6070
48) Stack in a PERT network refers to |
1) Activity 2) BEvent
3) Dummy Activity 4) None of the above
48) PERT ¥cad # Slack % e friife & % 7 |
1y Activity (1) 2) Event (de<)
3) =0 FR ‘ 4) TUE H FF A8
49) Which of the following categories of sand shows maximum bulking at certain percentage of moisture
conient? '
1) Fine sand ‘ ' . 2) Medium sand
3) Coarse sand 4) None of the above
49) ﬁqﬁaﬁ&ﬁw@ﬁw%ﬁaﬁwwmﬁqwmikmg)ﬁm@ﬁl
1) @& @ . 2) wEm
3) Al W 4) 3G 4 BE T

50) Ina CPM network latest finish time for an event I is 8 weeks. Activity 1-J takes 4 weeks for completion.
Event J starts after 12 weeks. Float for activity I-] is

1} 4 weeks 2) 8 weeks
3} 12 weeks 4) 0 weeks

50) um CPM 3e9% % cvent 1 1 Rl oo @7g 8 T ¥ | Activity 1-] 4 g & gof & &
Event ] SARHT & uﬁwmare:%l@’eﬁ?ﬁ% | activity I-J T Float 251 |

1) 4w 2) 8 HA®
3) 12 W 4) 0 waE

i
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for a fluid in motion, pressure at a point is same in all direction, then the fluid is

D) ArealFluid - ?) A Newtonian Fluid
3) Anldeal Fluid . 43 A non-Newtonian Fluid
51) aft ww e @ v o § R uw Ry ® 5w AR w Rl § wie Y, @ g ww -
1) amEtas ar| 2) “Efvm T
3) e AW 4y FIERE

52) In an iceberg, 15% of the volume projects above the sea surface. If the specific weight of sea water
is 10.5KN/m’, the specific weight of iceberg in KN/m?, is
1) 12.52 2) 9.81
3) 893 -4) 7.83 : E
52) ol W awd &% a9 O @ 15% Seas wgE & 99 § I E | A 9 % unh o o !
A 10.5KN/m® &, a1 3% foen #1 omifers e KN/m® # &R -

1) 12.52 . 2) 9.81
3) 8.93 4) 7.83
- 53) A body floating in a liquid is said to be in neutrol equilibrium, if its metacentre

1) coincides with its centre of gravity

2) Lies above its centre of gravity
3) Lies below its centre of gravity
4y Lies between the centre of buoyancy and centre of gravity

53) Tt oo wg § %l qu o g doem @ o ¥ ¥, 9t g9 as o Sued % -
1y ToF &% 4 AW @ @ '
2) T5E &% U IW &
3) 5 &% ¥ A &
4) TEEEN F TH UHE FE & 9 8 -

54) A siream function is given by :

Y = 2%+ (x+1)y
The flow rate accross a line joining points A (3, 0) and B (0, 2) is

1) 0.4 Units 2) 1.1 Units
3) 5.0 Units 4} 4.0 Units
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54) U@ 9 BEA = 20y+(ok )y’ B0 sefd fear saar € 1 a1 fgat A (3, 0)ud B (0, 2)ﬁrn°rs‘3r

o Y % AR-TR WAE B T E -
1) 0.4 gFe 2) LigRe

3) 5.0 g 4) 40 ghe

55) Euler’s equation in the differential form for the motion of liquids is given by -
b : 2 & -
edp + g.dz + vdv =0 e +gdz +vdy =0
3 & - gz + vdv =0 ‘ Y

edp-gdz +vdv=o0
55) WA W AR % o0, AEEY SR Gl ST 9eR H i el §
1)
edp+ gdz +vdv=0

d,
2) 7‘9 + g.dz + vdv=0
3) 4
[4

4)
-gdz+vdv=0 edp-gdz+vdv=o

56) Two small orifices A and B of dia. 1cm and 2cm respectively, are placed on sides of a tank at depths

of h_ and h, below the open liquid surface. If discharges throngh A and B are equal, then ratio of h
and b, (assuming equal ¢, values) will be

1} 16:1 2) 8:1
3) 4:1

4 2:1
56) aﬁ“zﬁi%a@Aanﬁimm HHST: 1%@2@%%!@%2&%&
h, @& h, Te0E R @i g € | af

; ! F1 el WeE § T
e gEl AU B & UHM WETE € @1 ® 41 h, U9 h, @ g eem
(Efii*c & W &AL B
1) 16: 1 2) 8:1
3) 4:1 4y 2:1
57) The Francis formula for the discharge over cippolett: weir is
D 184Lﬁ’v 2) 1L.841LH
3) 1.84LH”

4) 184LHY

57) Farusirdt faaw & wave & wiRkm g = § -
D 1.84LH%

2) 1.84 LH
3) 1.84LH72

4) 1.84LH7
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58) A nozzle is generally made of

1) Cylinderical Shape 2) Convergent Shape

3) Divergent Shape 4y Cornvergent - Divergent shape
58) omraear o AW g9 TR R -

1) SEER - 2) AEE S

3) AYEH SR 4) St wg FuErd SR

59) The head loss due to sudden expansion is expressed by

. 2
1) vit =2’ ' 2) (Vl_vz)

2g 2
3) (v, ) | 8 ()

| g 2g

59) wrgy & = § wawlad gfg 99 ¥ w, sﬁéﬁ‘wﬁmﬁaﬁ%-

1) V12—V22' 2) (Vl_"z]

2¢ -\ 2
3) (vl—v2 )2 4) (Vz”‘vz)z

g 28

60) The magnitude of water hammer depends upon the
1) Speed at which the valve is closed
2) Elastic properties of the pipe material
3) Elastic properties of the liquid flowing through pipe
4) All of the above

s T

60) AemaTd o 7 g o AT s g 7
1) awa ¥ s B

2) TET AN & HARY 0

3y WET H T8 AR 5 & R P

4) TOE WA




i
B
i
H

i

i

JCT

61) For any star to be a circumpolar star its

1} Declination must be 0°
2) Declination must be 90°

3) Hour angle must be 180°
4) Distance from the pole must be less than the latitude of the observer

OD) it ot @ aftydi an 99 ¥ R, sew

1) s 0° B anfgn

2) wyrE 90° g iRk

3) g2 &1 S 180° €A1 gy

4) 49 ¥ g0, 3@ 9w & Fy G B9 AR

62) The altitudinal distance of a geostationary satellite from the earth is about

1) 30,000 km 2} 36,000 km
3) 26,000 km 4y 44,000 km

62) v R TE & T ¥ Sl g H A e fea B2
Iy 30,000 ft. ‘ 2) 36,000 .
3) 26,000 fa, 4) 44, 000 feit.

63) Process of turning the telescope about the vertical axis in a horizontal plane is called
1) Reversing ' 2) Plunging
3) Swinging ; 4) Transiting

63) T W § Al ov & A AR AR B P FY S wEe -
1) wfeeRE 2) WA
3)%6‘@%’% 4 dmiy

64) A \_vel! conditioned triangle has angles not less than and more than respectively
1) 10° and 90° ' 2) 20° and 120°
3) 30° and 120° 4y None of these _

64) us gafed Brga & @il B 99 el w9 wd el v @ e =Ry -
1) 10° qem 90° 2) 20° 79 i20°

3) 30° @ 120° 4) SUgET § g B AL
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65) If magnetic declination at a place is 7°20' W and bearing given by compass is 45°40'E, then true
bearing of the place is

1) N53°0'E 2) S53°0'E
3) N53° 0w : _ 4) $53°0'W
65) af% v @I B gEHE v 7°20' W R, T Ranras 2R e wr g 45°40'E R, @ 3w e
&1 g Repr & - '
1) N53°0'E : 2) S53°0'E
3) N53°0'WwW 4) S53° 0 W
66) The rise and fall method provides an artithmetic check on

1) Back sights and fore sights
2) Intermediate sights

3) Back sights and intermediate sights
4) Back sights, intermediate sights and fore sights -

66) e Ud 3R B d few g aftede s Wi aE g -
1) UATEEIES UG ST
2) wEITEEET

3) UyETEEGT TS WEE W
4y VIS, HEIAEiET U SHTeie

67) The operation of tﬁrm'ng the table so that all the lines on the papér are parailel to the corresponding
lines on the ground, is called -

1) Orientation , 2) Setting
3) Levelling 4) Centering .
67) vew & ge dira Rrad TEer u @ 99 WA 87 S T W@l & SR & SR ¥, weart
1) R 2) |
3) wHAEA | 4) E=Em
68) The contour lines can cross one another on map oaly in case of
1) Avertical cliff 2) Avelley -
3) Aridge | 4y An overhanging cliff
68) uz wrf H WY YT, #u UF TEl @) e ¢ -
1) @& FE < 2) =
3) 9l 4) W Foe g we
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69) Spire test is used for adjnstment of

1) Line of sight ' 2) Vertical axis

3) Horizontal axis 4y Adjustment of altitude bubble
69) o wvio & fog wara witem & § fer oen ®

1) gfte v 2) T |

3) @ s 4) T 99 TG H WA

70) According to Bowtich’s rule correction to latitude or departure of any side is equal to -
1) Total error in latitude or departure X Tength of that sideipeﬁmeter of traverse
2) Total error in latitude or departure X perimeter of traverse/length of that side
3) Total error in Jatitude/perimeter of traverse -
4) None of these ‘

70y difey % Framsare Redl Ya % srsiter a1 ger § Gelee @ o Reed s o -
1) S A g H g X 39 Yar @ e /Oy B wiEn =
2) aie a1 goiE F g 3R X T w afE /o e e e
3) Jtis A P g/ wHT B GRE
4) I9F § ¥ B

71) In a particular catchment area , an accurate estimate of average rainfall can be obtatned by

1) Isohyetal method 2) Atithmetic mean method
3) Thiessen method ‘ 4) Normal ratio method ‘
71) w% 9 SoE &9 % AT aul o g8 A9 ey w fear wrer & 2
1) snEHEEed R 4 2) arefifess o faf
3) o RBify 4) Amrr s faty
72) Laysimeter is used to measure
1} Infiltration 2) Evaporation
3) Vapour pressure 4) Evapotranspiration
72) it et @ A % fog s R s & 7
1) fm | 2) gl

3) A e 4) MERY A
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73) Which of the following is a non-recording rain gauge?

1) Floating type rain gauge 2) Steven’s weighing type rain gauge

3) Simon’s rain gauge 4) Tipping bucket type rain gauge
73) gait & 2 o v Ty REET i i d

1) W B w aul T 2y ¥ET agn feet @ vl T

3) |EAT &1 g9l I 4y fedir gpe ey & aal i

74} Infiltration rate is always
1) Less than the mfiltration capacity
2) Equal to or less than the infiliration capacity -
3) Equal to or more than the infiltration capacity

4) More than the infiltration capacity

74) frara &Y AW B ¥ 7
1) o s @ & ' 2y T e & SR @ HN
3y R @9 % T O At 4) framg o ¥ o

75) A catchment area of 80 hectares has a run-off coefficient of 0.5. A storm of duration larger than the
time of concentration of the catchment and of intensity 3.6 crw/hr creates peak discharge of
1y 0.04 m¥sec - , 2) 0.40 m¥sec

3) 4.00 m¥/sec , 4) 40.0 m¥sec
75) 80 ¥ty & Srewmel &5 § 3 i YOH 0.5. % | Uh M Rraehl Sy e o s @ wite
% o A 3 4 e § O 98 st R Freor saw s,

1) 0.04 m¥sec 2) 0.40 m*/sec

3) 4.00 m¥/sec 4) 40.0 m’sec

76) 12 m’/sec of water js diverted to a 30 hectare field for 5 hours. Soil probing after irrigation showed
that 0.4 m of water had been stored in the root zone. Water application efficiency in this case would

be :
1y 66.66% 2) 77.77%
3) 44.44% 4) 55.55%

76) 12 HifdEE U @ 5 He % o uw 30 dear &9 % fag wafea fsan @ 1 e R % e ot
1 el oA 6 0.4 Wex arlt WE &9 § I € T 91 | 59 AP H 99 e e e o

1) 66.66% 2) 77.77%
3} 44.44% 4) 55.55%
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773 Duty is largest

1) Onthe field 2) At the head of the main canal
3) Same at all places 4) None of the above

77) g sftrwan B 7
) B W 2) 9&1 T & oY W

3) Wl R W uH § ' 4) 8 ¥ B oF 8
78) Lining of irrigation channels '

i) Increases the waterlogging area

2) Decreases the waterlogging area

3) Does not change the waterlogging area
4) None of the above

78) fiené i & whin 7
1) S W # @ gl €

2) I 4T i weRh
3) W W & § HE qadd T wd €

4) S9hEd § 9§ Wg @
79) What is regime scour depth for a channel in soil with silt factor of unity and carrying 8 m’/sec of
discharge intensity in accordance with Lacey’s regime theory?
1) 36m ' 2) 40m
3) 54m : 4) 62m
79) & o Pogw faei B oo 9 o weT & et w1 e Seer dd ¥ ol wer @ 8 Wifime
firr ¥ 1 78T 1 Romgd WY e & w ¢
136 2) 4049
3) 544 4) 6.2
80) To relieve water-logged land, the spacing of tile drain is difectly proportional to the
1) Depth of drain below the water level .
2) Depth of drain below the ground surface

3) Depth of impertions strata from the drain
4)' Coefficient of permeablity of the soil to be drained
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80) S T 9 B FW A F fory, oRd 9 % IR o gl aemwed Sd R 7
1) W W % S A B R
2) T B HAE & AN Tl B R
3) T @ origa T @ T

81) A dry soil has mass specific gravity of 1.4. If the specific gravity of solids is 2.8, then the void ratio

will be

1) 04 2} 0.8

3) 10 4 1.2
Sl)mwﬁé}mwaﬂmmm%lmwﬁﬁmwzs% & Fepar s 2 -

1) 0.4 2) 0.8

3) 1.0 4) 12

82) A soil has a liquid limit of 40% and lics above the A-line when plotted on plasticity chart As per [S
soil classification, the group symbol of the soil is

1) CH 2} MH
3 MI 4) I ,
82) s Mgt At et B 40% ¥ 3 e wiReRd wé il o ol ¥ 8 AR B T o 2018
fordt aifeptr #, @l & TR W WG §
nHnce - . 2) MH
3) MI _ 4) C1
8:3) Atterberg limit tests were carried on a certain soil with the following resuits:
i. Liquid Limit =435%
ii. Plastic Limit = 30%
iii. Shrinkage Limit = 15%
The value of plasticity index is
D 15% : 2) 20%
3) 25% ‘ . 4) 30%
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83) uw fafiem fodt 0 srexat @ & vl % T Feafaiee oo o go
i, aw@ 4m1 = 45%

i, wnies T = 30%

jii. FgET M = 15%

WIReRE TaE® & 99 §

1) 15% 2) 20%
3) 25% 4) 30%

84} A flownet is drawn to obtain
1 exit gradient, seepage and coefficient of permeability
2) exit gradient, uplift pressure and seepage
3) coefficient of permeability, upiift pressure and exit gradient
4) seepage, coefficient of permcability and uplift pressure

84) UF WAl 9T FM TG B F Y TN AR B
1) ufee Afede, Sl olR T s
2) uftve Ufeve, aRrEy S9R iR Hiuw
3) TR ONE, e J9R siw offwe dfsde
4) HIUS, URITEE lE iR aufeee J9r
85) The unit-weight and viscosity of percolating fluid are reduced to 80% and 60% respectively due to
rise in temperature. Other things being constant, the change ih coefficient of permeability will be
1) 11.1% | 2) 22.2% |
3) 33.3% 4 4%

SS)WQ%%W%%W?{%WWW@HW?@% 80% 3R 60% F7 &9 & | 31
ot B From wEg g§e, WOTYE Quie § 9REHEs B |

1) 11.1% 2) 22.2%
3y 33.3% 4) 44.4%
86) The value of Compression Index for a remoulded sample whose liguid limit is 40% is
1) 0021 202
3) 0.027 ' 4y 0.27
86) uz fimaedy wEr fomadt wra U 40% £, % forg ddtes e & e R |
1 0.021 2y 021

3) 0.027 ‘ 4y 0.27




87) Unconfined compressive strength test is
1) Consolidated drained test
3) Undrained test

87) sreifua adves gmed wliew @ E 7

1) s8igd Sl gdterr
3) s el adeor

JCT

/2) Consolidated undrained test
4) Drained test

7y wSigd o fenrdl Wi
4) NiCREEA ST

88) Westergaard’s formula for vertical stress gives greater value of stress than that by the Boussinesq’s

formula when % exceeds

1) 1.5
3) 2.5

2) 2.0
4) 3.0

88) drvmé oy et TG @1 G WS % G G ol T A ¥ o Y @ A st ) |

1y 1.5
3) 2.5

89) Newmark’s influence chart can be used for

1) Strip loading

3) Square loaded area only

2) 2.0
4) 3.0

2) Circular loaded area only
' 4) Loaded area of any shape

89):@%%%@%%&%}@%%%%?

1) Rew difdm & g .

2) %ae gerER g & ¥ R

3y e FiE Wee & % fon

4) Tadr ot s % wRE am & R

90) A vertical cut is to be made in saturated clay with C=14 KN/m?, ¢=0° and y=21 KN/m?, Without side
collapse, what is the theoretical depth to which the clay can be excavated

1) 1.67m
3) 3.67m

2) 2.6Tm
4) 433m

90) dg= 0, Ra C=14 KN/, @:méﬂwzﬂ KN/m*% 8 us Seatus e far o =1 & | uer wem
& o o & gEE @) fdioe wend ol & wa § |

1) 1.67Tm 2) 2.67m
3) 3.67m 4) 4.33m
25
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91) Which one of the following expression represents strain energy density?

i
1} Strees x Strain 2) 3 Stress x Strain
1 i .
3) "é" Stress x Strain 4) Z Stress x Strain

92) The ratio of average shear stress to maximum shear stress in a prismatic beam of rectangular cross

section 18 ¢
1 34 S 2y 473
3) 372 4) 2/3

93) Critical load for a column fixed at both the ends is P_. If top end of the column allowed to laterally
shift by small distance with rotation, then critical load of the column will be:

1) 4P, 2) 2P,
1 1-

3) 4y L

) 2 PLT ) 4 Pcr

94) ‘Which one of therfollﬂwing is kern diameter of a cirular column of diameter, d7
1y d2 2) d/4
3) dlfé 4y d/R

95) A structural system consists of two springs, each of stiffness k, in paralle! in-turn connected to third
spring of same stiffness in series. A mass m is connected at the one end of the system and other end

is fixed. What shall be the natural frequency of the system?

1) Jf& ) [
m ' m
3) \/?!z 4) \/Z”-E
2m : 3m

96) What is the ratio of peak deflection of simply supported beam subjected to uniformly distributed
load to corresponding cantilever beam with same parameters? L

1

1 2 =
10 8

1 | 1

3} — 4 L
) % )3

9Ty .

g




97) A continuous loaded beam ABC rests on simple supports at A,B and C without yielding (AB=L, and
BC=L,). Which one of the following represents correct equation of claperyron’s three moment’s

theorem?

b Malﬁ+Mﬁ([1+1?)+Mclq+%ﬂ+ﬁ%?ia=0
2
2) M (L,+L2)+3‘Z}"'+3A’2x2 =0
3) MAQ+2MB(Q+L2)+MCL2%;}MM:O
L L,
4) ML +2M (L, +12)+MLZ4IZx1 f%{g:o

Where M » M, and Mc and BM’s at supports A, B and C; A and A, are area of bending moments
diagrams for span AB and BC, respectively; x, and x, are distances of CG’s of A, and A, from

L supports A and B.

98) A simply supported prismatic beam of span, L. and section modulus, Z has an overhang of 0.4L is loaded
with uniformly distributed load , g throughout the span. The maximum bending stress induced is: -

2 7

1y +0.029L 2) i0.04~g—~——‘
Z Z

2 2

3) +0.08% 4) +0.08595
z Z

99) Consider following for bending stress induced in a beam:
(i) Directly proportional to modulus of elasticity,
(i) Inversely proportional to curvature and
(1ii) Inversely proportional to radius of radius of curvature
Which one of the following is correct answer?

1) ionly 2) iandiionly

4) All

 and kinematic indeterminacies, respectively, of a two storey two bay frame having

2) 9,12
4) 6,12

teferred as:

2) Carbonation

4) Pozzolanic reaction

N
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102) Creep coefficient at the age of 7-days loading is:
1 2.2 2) 1.6
3 11 4y 0.9

103) Maximum allowed deflection in a simply supported RC beam (span, L) under uniformly distributed
load including long term elastic and shrinkage effect is:

L - L
n L 9 L.
> 350 | ) 55
3 L. | g L

200 175

104) The maximur strain in tension reinforcement (having yield stress f, and elasticity modulus E ) in a
flexural member shall not be less than:

n L » L
1.15E, _ 1.5E,
f S
—2—10.002 4 +0.002
) 115E, | ) 15E,

105) What ‘shall be maximum allowed anchorage length of U-type hook i a RC compression member?
1) 4 times diameter of the bar 2) 6 times diameter of the bar

3) 8 times diameter of the bar 4} 16 times diameter of the bar

106) Which one of the-following is most suitable section for steel column section?
1} ISWB 2) ISMB
3) ISHB 4y ISLB

107) A welded plate girder has: b/t=6.7 and d/t =9.1. The section of plate girder will be classified as:
(take fy=250Mpa)

1) Slender ' ' 2) Semi-compact
3) Compact ; 4) Plastic
Where b:flange width;t: flange thickness; d:depth of the girder, t_: web thickness

108) Which one of the following is the correct about maximum projection of bearing stiffeners attached a
steel beam of web thickness, t ?

1) 201, 2) 181,

3) 161, 4) 12,

1
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109) Design strength in tension of a steel plate subjected to failure by rupture mode is expressed as:

A
09t 2) 0.9
}Imi ynw
3) 1,2-4"-{“_ 4) 1.5_@_&.
},ml yml

Where A : netarea; A _: gross area, fy:yield stress; fu:ultimate stress; y, : partial safety against ultimate
stress factor; y,_: partial safety factor against yield and buckling

110} What shall be width to thickness ratio for single angie section of class ! to prevent local buckling?
(Take fy=250Mpa) ' '

1) 15.7 2) 105
3) 9.4 4) 8.4
111) Which cement has higher corrosion resistance?
1) Having higher CA 2) Having higher C,S
3) Having higher C.S 4) Having higher Na,0

112) Air slaking term is used one of the following:
1) Lime gets hardened due to humidity
2) Lime géts softened due to humidity
3) Lime gets turned in lime-putty
4y Hydration of lime
113) Which one of the following is not about English bond?

1) Bricks in one layer are laid on header bond and courses above and below are stretcher bond
2) Bricks in one layer are laid on stretcher bond and courses above and below are header bond

3) Every layer of bricks is laid on header and stretcher bond
4) Bricks layer aligned such that vertical joint is continuous
114} Which one of the following is the modular size of common buﬂding bricks?
1) 190mm x 90mm x 90mm 2) 190mm x 100mm x 100mm
X 90mm ‘ 4) QOGmm x 100mm x 100mm
1ts about need of construction project:
2) Erosion control’

4) Form work
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116) Which command allows you to make the Rectangle or square

1) RE 2} REC
3) R 4) RS
116) st @ w0t g9 & fore et wws &1 # @ o § 7
1y RE (am7 %) 2y REC (@R § &)
3) R (aW) ' 4) RS (&R wH)
'117) Which file type is an AUTO CAD backup file?
1) BAC _ 2) BAK
3) DXFE | 4) DWG
117) gen wréa eda oiicies &1 S6oT WEed & Y H ST ¥ 7
i) BAC 2) BAK
3) DXF , 4) DWG
118) What keyboard key used for ortho on / off
1) F3 2) F8
3) F6 | 4) F7
118) orieff aif / ot &ed % forg A 6 § @ et g & 7
Hpm3 2) T 8
3) U5 6 : 4) TF 7
119) What does CAD stand for ? )
1) Compﬁter Aided Design 2) Computer Aidéd Drafting
3) Computer Aided Drawing 4) Computer Appliéd Drafting
119) CAD (1 @ &) @1 gt wid 7 & 2 | |
) wger uEs famA 2) @ger ude gl
3) FHYCY USS LT 4) YL RS FT
120) How many points do you need to define for the rectangle command?
o2 2) 3
3) 4 43 1 .
120) gray wpwimos % foe feas diewe 9 &y amagaeer € R 7
D2 2) 3
34 41
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